
STILETTO END CAPS, GLOSS BLACK  6359 

Page 1 

THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN CAN 

RESULT IN POTENTIAL DEATH OR SERIOUS INJURY. 

This indication alerts you to the fact that ignoring the contents described herein may negatively affect product per-

formance and functionality or damage the product itself or the product to which it is being attached. 

STEP 1 Read and understand all STEPS in the instructions before starting the installation. Park the motorcycle on a hard, level surface and turn 

IGN OFF. 

STEP 2 Remove the existing end caps from the ISO-Grips. 

STEP 3 Remove the trim rings from the existing end caps; place them on the included Stiletto End Caps. 

STEP 4 Install the Stiletto End Cap assembly on each ISO-Grip; secure with the included #4–40 x 9/16" Socket Head Cap Screws. For ISO-

Grips with ISO Throttle Boss; secure with the included #4–40 X ¾” Socket Head Cap Screws. 

ENSURE THAT THE FOLLOWING PARTS HAVE BEEN INCLUDED IN THE KIT: 

2 Stiletto End Caps 

8 #4–40 X 9/16” Socket Head Cap Screws 

8 #4–40 x 3/4” Socket Head Cap Screws 

YOU WILL ALSO NEED: 

Set of Hex Wrenches 

These installation instructions contain important information. Ensure that the end user receives this copy and is 

aware of its importance for future use. 

It is the end user’s responsibility to ensure that all fasteners (including pre-assembled) are tightened before 

operation of the motorcycle. Kuryakyn will not provide warranty coverage on products or components lost or 

damaged due to improper installation or lack of maintenance. Periodic inspection and maintenance are 

required on all fasteners. 

6359-11MC-0116 

Thank You For Choosing Küryakyn! 

Protect yourself and others from potential injury and property damage or loss. Pay close attention to all instructions, warnings, cautions, and notices 

regarding the installation, use, and care of this product. 


